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1AS U01 - Exercice 020 
  
  


ص�א�����ن�: (***)  

� ��ن������  �������A �����رة �������6 ن5��2 .  /%"1��23 أ/���م ا-&���رة ا�,*���اء �+��"اء ا�*���ور و �)��'ة ا&��%$# ا����"ء ا�
�ات ا���8�<A��/ #��B� 1     ا�*@���،  Aة  >��8�<1 =�>%��1 و ت)���وزت ا�����8ر   Bا��,1��7 ���3/� �����رة   ���Cت A���D� 6����%ا� E   

 Aا���8رت�.  
  

  
  
�F%3 ا���8رة -1C%ي ا�Hا� A/Iه" ا� �/ A 1 ا���8رة>�   .B ح%N أ�K��� LDM ن52 �
   /� ه6 ا�*1��8 ا�%6 تR2# ا���8رت�A �6 هQH ا��,17 ؟-2
  ؟) A ن��1 أ+"اء ا&�رات ا�*�ور  ا>%�اء / ( t = 30 s /� ه6 ا���8رة ا�%6 ت,%# ا�*��/1 �6 ا��,17 -3
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�  :ا�����ي ا������ ���� .ا���ة و ا���آ�ت ا�� 
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Sujet : 2AS 02 - 01 

  

1- A6 ا���8رت�%>��ق <�� ت�8وي �C%8*ا� A/Iا��,17  ا� ��>s20 = t  :  
  

  : ا�*1��8 ا�%6 تR2# ا���8رت�A �6 هQH ا��,17 -2
�ف ا���8رت�H�/ A ا&%W A/ 1>"��*ا�*1��8 ا� Xأو Y8,ن ���  :$�ل ا��"ء ا�

  
  
  
  
  
  
  
  
  
  

d1 = S1 =          m 100 = 
2

0) - (20 ) 0 - 10 (
 

d2 = S2 = ( 10 - 0 ) ( 20 - 0 ) = 200 m 
 Aا���8رت� A�< 1�M�2ا�*1��8 ا�:  

  
  
  

d = d2 - d1 = 200 - 100 = 100 m  
  
   : s30 = t ا���8رة ا�*%��/1 <�� ا��,17 -3

� >��52 ا������1 ا�*%D$�1               ن,Y8 <�� هQH ا��,17 ا�*1��8 ا�*��"<1     ����ف ا����8رت�H��/ A ا&�%$�ل ا���"ء ا�W A/ 
  :��>�� ن)� 
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d1' = S'1 =          m 225 = 
2

0) - (30 ) 0 - 15 (
 

d2' = S'2 = ( 10 - 0 ) ( 30 - 0 ) = 300 m 
�ى �  :ا���8رة ا�*%��/A> 1 ا�

  
  
  
  

d2' >  d1' إذن اا���8رة  B ا���8رة A> 1/��%/ A 17,ا�� ��> t = 30 s.   
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